
7OHQRWHUDSLD�+LSHUEDU\F]QD�MHVW�VWRVRZDQD�Z�OHF]HQLX
8NĄDGX�NRVWQR�VWDZRZHJR

8NĄDGX�NUÇľHQLD
8NĄDGX�QHUZRZHJR��WHUDSLH�SRXGDURZH

3UREOHPµZ�GHUPDWRORJLF]Q\FK�
'OD�SRSUDZ\�]GURZLD�L�XURG\

'OD�SRSUDZ\�NRQG\FML�SV\FKRIL]\F]QHM
:�FKRUREDFK�RGNOHV]F]RZ\FK�W\SX�ERUHOLR]D

7HUDSLD�SR�]DELHJDFK�FKLUXUJLF]Q\FK�
:�VFKRU]HQLDFK�GLDEHWRORJLF]Q\FK��VWRSD�FXNU]\FRZD

L�ZLHOX�LQQ\FK�

*$%Δ1(7�7/(127(5$3ΔΔ�+Δ3(5%$5<&=1(-�=$35$6=$
6(5'(&=1Δ(�1$�=$%Δ(*Δ�:�35202&<-1<&+�&(1$&+

��=$%Ζ(*�����]Ą
3$.Ζ(7���=$%Ζ(*�:�����]Ą�=$�=$%Ζ(*
3$.Ζ(7����=$%Ζ(*�:�����]Ą�=$�=$%Ζ(*


